        Карточка для слабо успевающих воспитанников.

1)Вычислите:

1. 25 * 96 * 4          (9600)

2. 305 * 8 * 125      (305000)

3. 102 * 7                 (714)

4. 3424 : 8                (428)

5. 35088 :  86           (408)

2)Найдите значение выражения   1326 :у, если  у = 1;  6;  17.   (1326;  221;  78)
Решите уравнение:

у : 56 = 65                        (у = 3640)

а∙ 67 = 6432                   (а = 96)

Решите уравнение:

 3 ∙  (х– 3) = 81             (х = 30)

Образец:

5 ∙ (с– 7) = 100

С– 7 = 100 : 5

С– 7 = 20

С = 20 + 7

С= 27

Ответ: 27.
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